LOGS-SURDS-SET-2

1
Find the value of x when 5log2—log8 = logx.
X D e [2]
MS-1
4 2 s a N
M1 for log 2” or log P 3log2 or log2
2
(a) Solve 3log2—2log5 = logx.
X = e [3]
_1
(b) Solve logy4 =3
Y T e [1]
MS-2
(a) 8 3 | M1 for correct use of nloga = loga”
25 or 0.32 M1 for correct use of loga — logb = log(a + b)
(b) 64 1
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Find the value of

log4
@) ogg-
ARSWEF(Q) .o 2]
(b) log,8.
HAUTWERID), isorsmaniims e s T [1]
MS-3
@) 2 2| Mt for 22022 op 1o, 4
3 log 2
(b) 1.5 oe 1
4 .
(a) Write down the value of log,3.
.................................................... [1]
(b) 2log2+Ilogll =logx.
Find the value of x.
X = s (2]
MS-4

@ 1L os
2

(b) |44

M1 for correct use of 2log2 =log2* oe
or for correct use of log p + logg =log pg
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Find the value of each of the following.

(@ (0.2
ARSWEF(Q) .o [1]
=
® (3
ANSWEF(B) oo [1]
(©) 643
AMBWERC) crvmmramimmimms s s e asaieg: [1]
(d) logy3
ANSWER(A) ..o [1]
MS-5
(a) 0.008 or L oe 1
125
b) |2 1
© 16 1
1
d — or0.5 1
(d) 2 or
6 1
(a) Find the value of log, [5) .
ANSWer(a) —......ocouvsrisssemiss e (1]
_loggq
®) p= log3
Find ¢ in terms of p.
Answer(b) G = ....oeeeerereereereeee st esn e (2]
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MS-6
(a) -2 1
(b) 37 2 B1 for log; g or plog 3 seen
or SC1 for answer 10 7'’
7
(a) 3=1log,8
Write down the value of p.
ANSWEr(a) P= ... ooeersesessesesssssssessssessnsessesnns [2]
(b) logl2 + log9 = glog2 + rlog3
Find the values of ¢ and r.
Answer(b) g = ...oreersesessesesssssssssssssasnsesesnns
FZ s [3]
MS-7
(a) 2 2 M1 for p* =8
(b) qg=2,r=3 3 M1 for use of log ab =log a + log b or

loga’=bloga

M1 dep for log 12 and log 9 in terms of
log2 and log3 only, or log2* + log3® seen,
or 108 =29x 3"
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8 (a) Find the value of log,.5.
.................................................... ]
(b) Simplify log63—2log3.
.................................................... [2]
MS-8
@ 11os :
2
(b) log 7 2 | M1 for correct use of
loga" = nloga
or log(a + b) = loga — logh
9 (a) Simplify v75.
ARSWer(a) —.....oouieineenieieiiennnens (2]
(b) Find the value of log;,1000.
Answer(b) —.......couererrrereereerennns [1]
MS-9 .
(a) 5«./5 B2 Award M1 for evidence of 25x3
® |3 BI 3]
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(a) Find log,8.

ABSWEF(A) | ......veeessssersssmsessssesesssssssesssssnsesnsssen (1]
(b) Find p when log 3 + 2log 5 =logp.
Answer(b) P= ..o, (2]
MS-10
(a) 3 1
(b) 75 2 B1 for [log] 25 seen
n (a) 2logx =3log4d
Find the value of x.
X = o 2]
(b) logx+logu—Ilogv=logp
Find p in terms of x, u and v.
P = e []
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MS-11

(a)

B1 for answer 2°
or M1 for log(.\':) or for ]0g(43) seen

(b)

Xu

v
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